Pre-Calculus 11

2.1 Absolute Value of a Real Number

Every real number can be represented as a point on a number line. The S\% N ('\'I ’\
of the number indicates its position relative to _2€Y0 . The
Mﬂg“\‘\'\ﬁ d4__ of the number indicates its distance from 26Y0 .

On the number line below, each of the numbers -3 and 3 is located 3 units from 0.

So, we say each number hasan __ 050Ut € yalve of 3.
3uniks | Bonits
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In absolute value notion it is written as: \o 3\ =3 \al =%

Below are some symbols that will be used this year and next for number sets you
learned last year. A Qewmont

In addition, the symbol _E.___ shows Number Set Symbol
Natural Numbers

membership in a set. So, the notion
YER means that_% __is in the set Whole Numbers

of real numbers. Integers
Using these conventions, the absolute value of a Rational
Numbers
number@ a el& is the distance from -
NPV RERRRRRRED Irrational
q 1o ﬁ on a number line. Numbers

Real Numbers

=~ &l oNg |2

Example #1: Determine the absolute value of the
following:

4.2 = 4.1 6.1= |

2% 40

4
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Pre-Calculus 11

Absolute value can be used to determine the distance between two pointsona
number line. To determine the distance between 2 and -5, count units.
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Since distance is always positive, it does not matter which point you start with.
Just remember always to __SObTVACt . Then take the
absolte VOWWE  ofthe  dif€tremcR

Example #2: Use absolute value to determine the distance between each pair of
numbers on a number line. Sketch a number line to illustrate the solution.

a. -3.7and-8.5 ‘
\'3 ‘l i (aﬁ.SSl ‘(—"1.80’\:5"\
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|31 +9°5| -8 -3
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= 4.9

b. 4Z and —55;»
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Consider the number 16: 16= H and16=_(-4)" .
Therefore, 16 has ¥W0 _square roots: ‘- _and - 4
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Pre-Calculus 11

4 is called a PY'W\C.\PM S‘t\’are root of 16; it is written as m and

represents the __{) 05:¥WE€  square root of 16.
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Example #3: Evaluate 1}(‘?—10)2 L \ﬁ 1 '—h(\ Y,
e =) z \’HO\
.1
)

- \‘l%l -Zl—b\
=13 - 216)

<15 -12
o

b. '—2x2—3x—4l when x=2
= | —z(z\‘—stz\'ql
ey

=\-9%-10l
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